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Economics
Paper 11

AT

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question carries
Two (2) marks. Attempt All questions.
AT : A1 TRAAehd THU TR (50) SgUERN TR fooidl oTRd. e GRAen g (2)

0 . W Y gredl.

1. ‘Determining people’s preferences | 1. ‘Tehr=A FaHTr=N FHAEONEEA = q9d
e’ 7 A g ER R

from observing their behaviour’ is
the basis of :

(A) wHeT fagr
(A) Indifference theory

(B) Marshallian theory (B) HRIeT= oI

(C) Composite demand theory
(D) Revealed preference theory
Marshallian demand analysis :

(I) Assumes constant marginal

utility of money.

(IT) Predicts unit price elasticity of

demand for commodity.
(A) (I is correct but not (II)
(B) (II) is correct but not (I)
(C) Both (I) and (IT) are correct
(D) Both (I) and (II) are wrong

(C) wgad Tmmien fagr

(D) Yenfed 9ot fagma
ORfe™ qrmie faversor

D Yemeh e st feer vfeq
.

(IT) &= Aot fhad aafeeha Th

FHA  HIfehd .
(A) @ R 90 (1) 7=
(B) ) =sqR qur (I) 7=
(C) @ emfor 0D <& TR
(D) @ snfor @) = IH

[P.T.O.
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If production function exhibits
constant returns to scale the total
cost curve would be :

(A) Positively sloping linear
(B) Negatively sloping linear
(C) Positively sloping non-linear
(D) Negatively sloping non-linear

(I) Marginal rate of technical

substitution measures

curvature of an isoquant.

(IT) Elasticity of factor substitution
measures slope of an isoquant.

(A) (I) is correct but not (II)
(B) (II) is correct but not (I)
(C) Both (I) and (II) are correct
(D) Both (I) and (IT) are wrong

Suppose monopolist faces two
markets with different price
elasticities of demand at each price.
The marginal cost of production is
zero. The discriminating monopolist
in each market will charge prices
where elasticity of demand is :

(A) equal to 0
(B) equal to 1
C) >1
D <1

SR IcUTeA Tl TR STIAY Yo <eied
3, W THY @4 ok T FTHA

(A)
(B)
©)
(D)
(D

(ID

(A)
(B)
©)
(D)

Y[ YAuaEl 9l I

U YUl T I
CEICUREINCTCIR]

ROl YUl SR

qITeh HiH =T 8 HHSIEH

IR dghd<d | hidl.

ST Tl ATa<ehdl o3I

SSRT=AT GeUIA HIYT Shid.
(D e qu (1) e
(ID) seR g (1) e

@ efor () < s
O enfor ) <= gh

TS HFgR= SF STSdrel qrToft

ISRl A eehdl Yodieh fohAdien f9=1 318

21| e | | T | ik o i o B o

319 gRfeedia feAdde ST AR

Jceh SISTRIG 3731 fohAd 3TeRiat fo 519

Aroi=l foRAa wafeerar

(A)
(B)
©)
(D)

0 3 &d
1 319d
1 Ua S 3EA
1 Y& & eTd
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Let long run marginal cost be
denoted by LMC and long
run average cost be denoted by
LAC :

I) If (LMC/LAC) < 1, then there

are economies of scale.

(II) If (LMC/LAC) > 1, then there

are diseconomies of scale.
(A) (D is correct but not (II)
(B) (II) is correct but not (I)
(C) Both (I) and (II) are correct
(D) Both (I) and (IT) are wrong
Which is not a correct prediction of
Cournot model ?
In equilibrium :
(A) Industry profits are maximum

(B) Profits of individual firms are

maximum

(C) The output is lower and price
is higher than under perfect

competition

(D) The output is higher and
price is lower than under

monopoly

THST STeehTen | Br=r=n fesr LMC
el 3N SrefehTel= T @ fe9T
LAC H @hell, W :

(I) ST (LMC/LAC) < 1 T ST{amar=i
SRl A

(II) S8 (LMC/LAC) > 1 TR 3TIH=N
YfdeRerdr 3T9d

(A) () SRR 9o (II) e
(B) ) SR o1 (I) A
(C) (@ emfor (I) <&t slisk
(D) @ enfor (I) <= gh

~ N ~

®Al gfaA= wed wifehd =R
™ ?
A

(A) I TR HEH STl

(B) oFfokiesh ST GX=T %1 HewH
Il

(C) ot Tasfien Seure AT SMfr fepwa
S 319d

(D) HeRIGRIUST 3cd1e S 271for fehud
HE AT

[P.T.O.
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8.

10.

A utilitarian judges allocation by

their effect on :

(A) The worst off members of

society
(B)
©)

The rich members of society
Multiplication of individual
utilities

(D) Sum of individual utilities

Suppose Y = 1000, transfers (T) =
200 and the tax rate (¢) = 0.20, the

disposable income would be :
(A) 1200
(B) 800
(C) 1000
(D) 1400

Suppose the economy is in

equilibrium in liquidity trap.
Government increases its
exogeneous investment by Rs. 1,000.
If the marginal propensity to
consume is 0.8, equilibrium income

would increase by :
(A) 1000
(B) 500
(C) 800
(D) 200

10.

SUFEFIATEIG ! SHIEHT=AT aredr= fHarer
JreqT=AT BT @Ieite  qiomHT=1

AUR Ll :

(A) HHISTAIA dRdia il 8Iom

gRomm
(B) HHWNTAIAT $iHd iiehier IO qioms

(C) dafFdsr U= TOMRRIER

B gy

(D) iR SN SSIeR. B0

gRomm

st Y = 1000, T&Rd @ (T) =
200 O T T () = 0.20 3T, W
Td FHOIETY I WleAlddeh! hIvd

W ?

(A) 1200
(B) 800
(C) 1000
(D) 1400

que AdegTen qea=ar AT
THACIIT 3T d WHRA 3Tl dTed
TAaUs 1,000 T A Srede, S HHd
ITUNT X 0.8 T, W FHAIA T el

¢ Wellddeh! Ul & ?

(A) 1000

(B) 500
(C) 800

(D) 200
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11. The basic assumption of classical
approach to determination of output

and employment is :

(A) Price flexibility and wage
rigidity

(B) Wage flexibility and price
rigidity

(C) Wage-price flexibility

(D) Wage-price rigidity

12. Under adaptive expectations, the

Phillips curve becomes vertical at the

natural rate of unemployment :

(A) In both the long run and the

short run

(B) In the long run but not in the

short run

(C) In the short run but not in the

long run

(D) Neither in the short, nor in the

long run

11.

12.

Iq= 9 o fuiorgeyta

qAaaret gftehiqa qaqd e

e -
(A) wafas foradl a a6t A

(a)

(B) wafaeh Hs[ie o et fohHd]

(C) wrafaeh TSt 9 TR

(a)

(D) drR HsfieY & fehadi

WHNE™ &  (adaptive expecta-
tions) Tfedewrendl fwfaw = =
SRS 9 SUER WeAegH Tl
farfasierd s/al

(A) 379 9 e, Tl Hled

(B) Treieptadra farfasiais ofddl o

Tt fafasiad T9a

(C) 3TcUhToola farfasiasl 319l 901

SrelepTeord THal

(D) 3Tc9 & <, St haa fafdsera
BESK|

[P.T.O.
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13. According to the Cambridge

14.

equation of demand for money, if
nominal GDP rises by 2%, the
money stock multiplied by velocity

must rise by :
(A) 1%
(B) 3%
©C) 2%
(D) 4%

Friedman’s demand for money
theory shows that the demand for
money declines as the ratio of
human to non-human wealth

increases because :

(A) It is easier to sell or purchase
human wealth than non-

human wealth

(B) It is easier to sell or purchase
non-human wealth than human

wealth

(C) It is easier to sell non-human
wealth than human wealth but

not to purchase

(D) It is easier to sell human wealth
than non-human wealth but not

to purchase

13.

14.

L= AT oS AHIRTOTTaR S
ATHATS Fohdl ST 3cqie S) 2% dled,
TR e e el Seren Ereay )
e

(A) 1%
(B) 3%
(C) 2%

D) 4%
TReHA g Yem=n "R fagagaR
ST FUie S Wi ST
UK dTed STHaT UST=h |rTof wed
EJE8 I
(A)

et TUaie ERal-fash SHa8r
AT FUd=ar ©Ret-fasmt
STIRRIIE YoAH ST

SHME Ui ERel-fagh! TR
el Wocdi=ar  'Rel-famt
STIRRIIE YoAH ST

(B)

fa a

ST Gucir=! fosht AMET Ui
fosniuan a9 e1{d T A
duciel  ©Rel  HEdl WU
TEOY SIS 3T

O Guie! fohl 9 Faai=
foashtaen gay d9d 9q HHE]
U=l @Rel STHME] Tl

WU 3EES qd

(©)

(D)
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15.

16.

17.

Suppose currency is in the ratio 0.5
to deposits, reserve is in the ratio
of 0.25 of deposits and high powered
money is 1000, then the money

supply is :
(A) 2000
(B) 2500
(C) 1500
(D) 1800

Which one of the following is not

true in the simple Keynesian

model ?

(A) The equilibrium is unique
(B) The equilibrium is stable
(C) The equilibrium exists

(D) The equilibrium is constant

Which of the following is the most
essential feature of economic

development ?

(A) Physical expansion of output
(B) Investment

(C) Structural transformation

(D) Surplus balance of payment

15.

16.

17.

AT I Al oI 0.5 a9
Tfere erd= STt gHror 0.25 8 9
S T SR 1000 @, W S
RECE! A

(A) 2000
(B) 2500
(C) 1500

(D) 1800

Su<q1 YTaHMTd @i S0

faum g @ ?

(A) A UhHS Al

(B) 9Harel feer s/an

(C) gHdia SIfRdead 319l

(D) HHAA 3T STl

Wciiedeh] 3Tfes farE STemeyash
oG AU HIOA 7

(A) SRR Hifas fawr

(B) TqeIh

(C) H=AHS qfiadH

(D) EER der SATTE

[P.T.O.
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18.

19.

20.

Main focus of classical writers of
development was on

18.

AR TRerehT= fashTar=a sTed 9qe
AN A
T ElefleTdehl HIMRX Bl ?

(A) Growth (A) Tgt
(B) Redistribution (B) AfeiR®
(C) Equity (C) GHM
(D) Trade (D) =AMAR

For the capitalist enterprise,
existence of disguised unemploy-
ment in the Lewis Model leads to
of labour.

(A) Unlimited supply

(B) Shortage of supply

(C) Freezing of real wages
(D) Increase in real wages

Match correctly concepts enlisted in
List I with its proponent from
List IT and choose the correct answer
from the codes given below :

19.

20.

qTESTANNEl STHAMS!, Afegd A=
NN NN AN .Y

FRHEG 3GY ISR @eiierdeh]

vl giferdt sifaerren sedia fafo

A ?

(A) 3:|1:|€|i\§'ﬂ qadl

(B) YRaSHT= HHA

(C) ar&afass AS TSaufteh{

(D) arEafas Hsid a6

Tt 1 g footesn deheunret 9t 11
Tey gRIfaeiedn a1 Hheqqr=a ST
I Slre e oo Ay SR oo
Gehamyd faer :

List I List II a1 T I
(1) Perfectly Elastic Supply ~ () Harvey (1) s T R 0 = fafe
of Labour Leibenstein T
(2) Critical Minimum Effort (1) Arthur Lewis (2) =m e T ) amely Sfg
(3) Reserve Army of (iiz) David Ricardo @) X PN SN i) .
Unemployed R R —— o) FTE
(4) Subsistence Real Wages (tv) Karl Marx . i . :
Codes - m» @ ® @
Loe e @ @& @ O @ G
@ @ O @ G
B G G G i) ® O @ e )
© Gi) O G Go) © @ o @ @
O G G @ 6 O @ G @ ®

10
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21.

22.

23.

What is not true regarding the Solow
Neo-classical Growth Model ?

(A) Substitution between labour

and capital is possible

(B) Labour and capital are subject

to increasing returns

(C) It is more suited to developed

economy than developing one

(D) It is basic framework for study

of convergence across countries

The Schumpeterian development
implies

(A) rise in real wages of workers

(B) achieving and maintaining of
full-employment level in the
economy

(C) growth along with qualitative
changes in the economy

(D) acceleration in the factor
productivity

The main focus of the 12th Five Year
Plan of India is

(A)
(B)

work, food and equity

employment, efficiency and
sustainability

(C) equity, efficiency and self

reliance

(D) faster, more inclusive and

sustainable growth

21.

22.

23.

Il FerEAaeG! gl FfTHHr=A1 Heuid

Weliciieh! hIvdl o1l T ATet 2

(A) gfge =1for vreas ardia gagd=
NEDKI|

(B) &M 3TfUl vigaar=n hod <X aiedl
TR & 31

(C) fasrfga eefeazaaEd famaasia
Teeigen sifges Ay

(D) fafay Temei 9 w5 2 STHe™
T ST ST HLOATHIS GeAYd
<ehe

T guita foskrard et s Af9dd
AR :
(A) gfisr=n arfas ASd 916

(B) s1efeaaeda Ui ISR & 9
®&A dl fesed a0

(C) TIHTEIT FgI THAT IO Tl
Tefet

(D) T IACHIA =AAT <0

-~

OISEE)

1231 YAt g R

Gtk hIMER BT ?
(A) ™, 3= MU FHAE
(B) TSR, hrdemyar smfor Smyedt

(C) THHal, shrismar STfor et

(D) SioTe, 3fYeh TeEHTaRTeh ST Smyed

gLl

11

[P.T.O.
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24. The effective rate of taxation is a

25.

ratio of :

(A) tax revenue collected to the tax

base

(B) total revenue to gross domestic

product

(®)

current revenue to the tax base

(D) non-tax revenue to the total

expenditure

The 14th Finance Commission 1is

d)

(A) T UER H AEgA oYl

THIOT

(B) U IqATN THU HgYATH

THIT

(C) s STHNRN <le] HeHr= YHII

~

ch{TiX

(D) THU T Heqdr

THTOT

25. e fa AN T o
constituted under the Chairmanshi
P ALLIAETA Al 3ME ?

of :

(A) = EIl 5ea
(A) Dr. Sudipto Mundle

(B) . 9. =I. Yge!
(B) Dr. Y.V. Reddy
(C) Dr. Kaushik Basu (C) =T e =Y
(D) Dr. Raghuram Rajan (D) . TEH TS

12
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26. The excess of expenditure excluding
interest payments over revenue
1S ceeeeein
(A) Current Account Deficit (A) =Te WEEd 2
(B) Effective Revenue Deficit (B) Fet HEHel 92
(C) Primary Deficit (C) Wt e
(D) Revenue Deficit D) W I
27. The enormous amount of tax 97 WX T W SEeE
expenditure :
(A) 9aTEl U=l gL el
(A) increases effective rate of taxes
B) &= el
(B) increases rate of taxes (B) <«
(C) reduces rate of interest (C) == & A el
(D) reduces effective rate of taxes (D) 9uTel =l €1 Rl Bl
28. According to whom the least | 98 =\umen #q eTcudH TR TR § T
aggregate sacrifice is superior 29 St qe AR 7
principle of tax distribution ?
(A) #EI® 3NT
(A) Musgrave R.A.
(B) Solow R.M. (B) SM.TH.
(C) Seligman E.R. (C) e T 3.31R.
(D) Pigou A.C. (D) Ty wH.
13 [P.T.O.
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29. A wide gap between the ratio of non-

29. TSI IHTRN THIT hoick TGl FHI0
debt receipts to Gross Domestic
ST TRY T TR IRl gH7
Product and the ratio of total
_ _ AT Wl Herd: yfafsfed
expenditure to Gross Domestic
Product essentially reflects the Tl
tent of :
extent o (A) it =
(A) primary deficit
(B) USRI e
(B) fiscal deficit
(C) gurelt Hagel!
(C) effective revenue deficit &
(D) revenue deficit (D) IEEE“ qc
30. Net collection of National Small | 30. U 3Tcus=d Heidial e = gelt
Saving Fund is invested in : Tafereft S
(A) Shares of  Public Sector (A) T U .
Undertakings .
qSaHE
(B) Government Bonds
(B) W& =A@
(C) Central and State Governments
. (C) @g omfor o= gfasda
Securities
(D) Venture Capital Bonds (D) Wt wrese frsme
14
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31. In a two-country two-good model,

country A is labour abundant and
country B is capital abundant. Good
X is capital-intensive and good Y is

labour-intensive. Which of the

31. T <0 301 < &= FicmrHed ‘31
QY YW YUH e 9 ‘9’ I3 wWiedd
JYE TR ‘&' IR Wiedd YUH TR
W ‘A’ I g9 YYH ST, @eiterdent

HUG fIuH SRER 3R ?

(A) ‘31’ <9 ‘&1’ = STud e 9 ‘I’

following is correct ? = fea
A A % and Y B) ‘&1’ < ‘g’ = i @ 9 T
imports X and exports
P P = A HLl
(B) A eXpOTtS X and impOI‘tS Y (C) ‘a’ %QT ‘&'{’ %ﬁ' 3T m‘ g9 ‘-q’
(C) B imports X and exports Y kil
(D) ‘31’ <w ‘&’ onfon ‘=" = Sl gt
(D) A exports both X and Y - f
32. Intra-industry trade is ............
y 32. Bﬁl.r“a.rh W %‘Uﬁ ..............
(A) Trade between two industries in
(A) A S STRTHETA AR
a country
(B) Trade within an industry in a (B) TRIIeT T SEMIICT SR
country (C) TM fa=1 e A SEmHE S
(C) Trade between two industries in IR
two different countries ) . )
(D) <H WML = JeTie =
(D) Trade between two countries of
EZIRIES
goods in the same industry
15 [P.T.O.
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33.

34.

Both the merchandise trade account
and the current account are in deficit
in a country, but the deficit in the
trade account is larger than that in
the current account. This implies
that :

(A) Capital accounts (excluding the
changes in reserves) is in

surplus

(B) Capital accounts (excluding the
changes in reserves) is in

deficit

(C) Invisibles account (including

transfer payments) is in

surplus

(D) Invisibles account (including

transfer payments) is in

deficit

In a partial equilibrium analysis,
tariff is imposed on a good that is
being imported. Which of the

following is true ?

(A) Consumer surplus increases
(B) Consumer surplus decreases
(C) Producer surplus decreases

(D) Tax revenue decreases

33.

34.

Ueh! QUMAT offeld el S&MUR o =]

@d ® QI e Ieifada, Wy o]

SR q & =] Were’ia Jeraar
sfYer oTg, AEEA o8 gfed dd h

(A) T fAeftdia I aiTesd Wigde]
T el R

(B) TEta fAeftdic et afTesd Wig e
T e TR

(C) THARA <O FHISE 3THeiel 31533

T e R

(D) TEIARA <O FHISE 3THeiel 3139

ord g 3T

3TYM: FHAIATAd A T

HATHRAT Il WeATAdeh! hiva faam

| 3 ?

(A) SUFFRITE GAIieRR aTed
(B) YA HArSIiYe wed
(C) SUEehT= HATOIEer wed
(D) T HEYA Hd
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35. Which of the following denotes an | 35. 3TIfef®s THTTHIHIOTE dTed FHTIT
increasing order of economic TTefterds! S gaiam <eifas
integration ? (CU : Customs Union, SR ? (CU = @ gF#F, EU =
EU : Economic Union, FTA : Free ) ’

’ RIS gFaH, FTA = Hi ¢8 TRAT,
Trade Area, PTA : Preferential N .
PTA = TRRfaa dg oiEwe)

Trade Arrangement) :

(A) FTA—PTA—CU—EU (&) FIA—PTA—CU—EU
(B) PTA—FTA—EU—CU (B) PTA—FTA—EU—CU
(C) PTA—FTA—CU—EU (C) PTA—FTA—CU—EU
(D) FTA—CU—PTA—EU (D) FTA—CU—PTA—EU

36. The Brettonwoods system is best | g¢ foretaed oAt gE Fquig

described as a system of : -
(A) Fixed exchange rates
(A) fer fafma T
(B) Pegged exchange rates
. (B) T Secial fafma ST
(C) Adjustably pegged exchange
rates (C) FHEITSIA feresed Seretal fafaa X
(D) Flexible exchange rates (D) g fafqmg <

37. In 2012-13, India’s current account | g7 g 90192-13 T%% YRAMIE tilc;L@ll@lldflcfl
deficit as a percentage of her GDP qera TA IIMATd  SCATCATSH FHToT
was : e aﬁ.

(A) 1.8 per cent (A) 18 zFh
(B) 2.8 per cent (B) 28 TFh
(C) 3.8 per cent (C) 38 zFh
(D) 4.8 per cent (D) 48 TFh
17 [P.T.O.
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39.

40.

the committee headed by

was appointed in India to

make suggestions for correction in

the balance of payments.

(A) 1983, Vijay Kelkar

(B) 1993, P.C. Alexander

(C) 1995, Prakash Tandon

(D) 1993, C. Rangarajan

The gap between GNP and NNP

refers to :

(A)

Consumer expenditure on goods

and services
(B)
(®)
(D)

Indirect tax revenue
Capital depreciation
Direct tax revenue

According to the 2011 census which
is the correct descending order of

population of cities in India ?

(A) Greater Mumbai, New Delhi,

Kolkata, Chennai

(B) Greater Mumbai, Kolkata, New

Delhi, Chennai

(C) New Delhi,

Kolkata, Chennai

Greater Mumbai,

(D) Greater Mumbai, Chennai, New

Delhi, Kolkata

38.

39.

40.

ATTUSITT  SHIRIUA AT G &I

m@wwﬁ

fosa et
. STeERet

YhI T8

(A) 1983,
(B) 1993,
(C) 1995,

(D) 1993, ©. TR

el TSI 3G o ki TS Scde
A ek

(A) TEeRTEl 9% 9 HAadd T

(B) 3Y@Y U= Heygd
(C) iedaEdd JHN

(D) T L TRHA

T 2011 =1 RRIOITEIR Alhd&=

(a)

4 B AR N S | B | e B e e

IO ?

= = Iy

(A) Je=as, o1 fooell, hictehdl, =18

o~

(B) =S, hictehdl, ot faeed,

e

db

(C) et feeett, JeaE, Hicthdl, =13

(D) Feas, =5, 7t foal!, Sictehal
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41.

42.

(I) In India, certificates of deposits
and commercial papers are
transacted in the money

market.

(IT) Stock exchanges are the part of

money market in India.

What can you say about these

statements ?

(A) Statement (I) is wrong and

statement (II) is correct

(B) Statement (I) is correct and

statement (II) is wrong

(C) Both the statements are wrong

(D) Both the statements are correct

The annual financial statement
presented to both the Houses of

Parliament in India is as per

of the Indian Constitution.
(A) Article 112
(B) Article 268
(C) Article 280

(D) Article 74

41.

42.

(I) YRad I ISR 9 fthene 31Th
fevifere 9 FARIAT TR I SRR

(I1) YA 3R ISR 8 AT SR

T 9N 3=

o fauHaed = w0 "o ?

(A) fagm (1) I 318 9 faum (1) sl
R

(B) faum (I) sRsR e 9 faum (ID)
I IR

(©) = A fam 9% e
(D) = S Fs SRR e

HRAT T FHGAT 78l HUNEHE Sftich

[ (a o

a4 |

......

IO AT TSTEET=A0

FTER 9T el M.
(A) heH 112
(B) heiH 268
(C) het™ 280

(D) hetH 74

19
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43.

44.

45.

The main disadvantage of Wholesale
Price Index (WPI) in India is that
it :

(A) is available only at current

prices
(B)
()
(D)

is published only annually
has become outdated

does not cover the services
sector

According to the Kyoto Protocol, the
emission level of Green House Gases
is to kept at .............. below the 1990
level.

(A) 5.2%
(B) 6.4%
(C) 41%
D) 6.2%

In a class of 8 students mean marks
obtained by students is 13 in
statistical methods and in another
class of 12 students of the same
subject, the mean marks obtained by
them is 8. What is the combined
mean of the marks obtained by the
students of two classes ?

(A) 8
(B) 10
(C) 12
(D) 14

44.

45.

(A) 1 e =] Topwdi=T IUTed STl

(B) o wa INIqA Thal UfAS Bl
(C) ™ hIcToTel Hell 31

(D) | Gl FATET GHEY hell Sd
BRI

FI HIRTER TRA T8 A=A IS

PV — e YU — 5 it

ST I

(A) 5.2%

(B) 6.4%

C) 4.1%

(D) 6.2%

qifeasht gt a1 fasama 8 fommef

AT Teh! TS foreneaiqn T 13

O U el ST g el 12

formeatar == fomam wad 8 U1 gt

STl o1 Il SFTidiel Tt I Sieiel

g T O fohdt ?

(A) 8

(B) 10
(C) 12

D) 14
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46. In a class of 25 students everyone

46. 25 fo=nel T e Taht T1d Yo
has secured 15 marks. What is the .
. fomeaty 15 701 9T shel. A1 9T O
value of standard deviation of
0 g foee qoa et 2
marks *
(A) Five (A) 9=
(B) Fifteen (B) 9=
(C) One (C) T=
(D) ZeI'O (D) W
47. What is the value of Pearson’s 47 el T 50, WM W 47
Coefficient of Skewness for the -

o , YHITUIG forere godt 3 sT¥eiean foraeomendt
distribution having mean value 50, . .
median value 47 and value of TSTET= ST [ e
standard deviation 3 ? PO TR 2
(A) 3 (A) 3
B) 2 (B) 2
D) 1.5 D) 15

48. Find out standard deviation for the N

S _ 48. n =49, p = 0.5 T A A fgug

binomial distribution having n = 49,
b =05 : foreoma o faavor sy e
(A) 1.5 (A) 1.5
B) 2 (B) 2
(D) 3.5
(D) 3.5
21 [P.T.O.
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49. Regression equation of Y on X is | 49 Vv 5 X ¥ ufqwmma SR
given as Y = 30 + 0.4 X whereas Y = 30 + 0.4 X 3@ o5 X o0 Y
regression equation of X on Y is

o YA FHET X = 60 + 0.9 Y
given as X = 60 + 0.9 Y. What is . ..
T ol X A Y Frmdia wede
the value of correlation coefficient )
TUeRTe Hed fehdl 2
between X and Y ?
(A) 0.6
(A) 0.6
B) 0.9
B) 0.9 ®
(C) 0.36 (C) 0.36
(D) 0.4 (D) 0.4

50. In order to verify statistical | 90. Y=0o+fX 1 Y HfTRTE iR
significance of ‘B’ in linear regression B =1 YT HifeHeh 1 werftard TSdrez
equation Y = o + BX,. Which of the AT ST WTeieTdehl  hivTe
following is used ? U YA HOAT A ?

(A) F-test (A) F-=m=off
(B) Chi-square test (B) S-SR <=
(C) z-test (C) z-=r=roff
(D) t-test (D) ¢-=ar=oi
22
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ROUGH WORK
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